Satteldach (einhiiftig) mit 42° und 18° Dachneigung bei
gleicher Traufenhahe.
Ges.. GrundmaBe, Firsthohe und Dachflachen (Grundriss + schrdg).

GrundmaBe;
g4 g, b b
4= Q)=
10,60 fan ag , fan az ,
fan «, fan oy
- _ 10,60 _
IS B T Y S -2 1
fan 18°
_ 10,60 _
= . 32 fan 18" 1 1.789m
fan 42°
Firsthohe:;
- heo= 2,811 « tan 42° = 2,531m
he, = 7,789 = fan 18° = 2,531m
Grundtlache:
A= 2811 12,45 = 35,00m?
& v 789 % 1245 - 96,97m?
131,97m?
Dachildche: (schrdg)
35,00  _ 2
An = = 47,10
U7 tos 42° i
96,97 _ 2
= 101,96
cos 18° i

149,06m?
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